POULE A POULE B

setl set2 set3 setl set2 set3 setl set2 set3 setl set2 set3
| LereBvRE/MORIN || 6] 6/ | vs [ 2| o [ comBres/NAYROLLES|| | THEPAUT/CATHALA || 6] 6 | vs | 1| o |/ DUCHEMIN / DUCHEMIN
[ wNicoas/peNece || 1] [ | wvs [ o] | | bye [ | mAvsounave/NADAL || 1| | | vs [ of | | bye
| LereBvRE/MORIN || 1] [ | wvs [ of | | bye [ | 7tHepAuT/cATHALA || 1| | | vs [ of | | bye
| w~icotas/pENece || 6] 6/ | vs [ of 1] | comBres/NAYROLLES || | MAYsouNAve/NADAL || 6 6 | vs | of of || DUCHEMIN /DUCHEMIN
| LEFEBVRE/MORIN || 6] 6| 10/ vs | 2| 7| 5| w~icoias/penece || | THEpAuT/cATHALA || 6] 6] | vs | 1| 3] || mAvsouNAve/ NADAL
[comBRES /NAYROLLES| 1] | | vs [ o | | bye || | pucHEmIN/DucHEMIN] 1| | | vs [ of | | bye
Classement M1 |[M2 [M3 |Total +/-S |+/-) Classement M1|{M2 [M3 [Total +/-S |+/-)
LEFEBVRE/MORIN 2| 2] 2 6 35 THEPAUT / CATHALA 2| 2] 2 6 25
NICOLAS/DENECE 2| 2] 1 5 27 MAYSOUNAVE/NADAL || 2| 2| 1 5 17
COMBRES / NAYROLLES| 1| 1] 2 4 4 DUCHEMIN /DUCHEMIN || 1] 1] 2 4 2
bye 1 1 1 3 0 bye 1 1 1 3 0




Solution 1 Match en 1/2

| THEPAUT/CATHALA || 1] |
NICOLAS/DENECE || o] |
MAYSOUNAVE/ NADAL| 0] |
LEFEBVRE/MORIN || 1] |

-

\4

[ 1] || coMBRES / NAYROLLES
6| 6 [ THEPAUT/CATHALA || COMBRES / NAYROLLES || 6| 1| 3|
L o 1 bye
ler | THEPAUT/CATHALA | | DUCHEMIN / DUCHEMIN | seme
Lo | bye
1] 2| || LEFEBVRE/MORIN || DUCHEMIN / DUCHEMIN|| 2| 6] 10|
[ 1] || DUCHEMIN / DUCHEMIN

2eme |  LEFEBVRE/MORIN |

2] 3] [ nNicoLAs/DENECE
3eme | MAYSOUNAVE/ NADAL |
6| 6] [ mAYsouNAVE/ NADAL

aeme |  NICOLAS/DENECE |

| COMBRES / NAYROLLES | seme

bye

bye




